
SAP ABAP table ISMSL {SDB: Problem Solution Link Table}

ISMSL

CLIENT [CLNT (3)]

ISMNR [CHAR (12)]

ISMVR [NUMC (3)]

ITEMNR [NUMC (4)]

ISLNR [CHAR (12)]

ISLVR [NUMC (3)]

ISMIT

CLIENT [CLNT (3)]

ISMNR [CHAR (12)]

ISMVR [NUMC (3)]

ITEMNR [NUMC (4)]

 ISMSL-ITEMNR = ISMIT-ITEMNR 0..N

1

ISMP

CLIENT [CLNT (3)]

ISMNR [CHAR (12)]

ISMVR [NUMC (3)]

 ISMSL-ISMNR = ISMP-ISMNR 
0..N

1  ISMSL-ISMVR = ISMP-ISMVR 0..N

1

ISOL

CLIENT [CLNT (3)]

ISLNR [CHAR (12)]

ISLVR [NUMC (3)]

 ISMSL-ISLNR = ISOL-ISLNR 

0..N

1

T000

MANDT [CLNT (3)]

 ISMSL-CLIENT = T000-MANDT 

0..N

1


